the HEART of YOUR HOME

Tudor Model #8120

Direct Vent Gas Stove Heater

s hearthstone

Exploded Parts Drawing, Revision 0.1

1

i

L
=
QO
(i
o <
= ..
o %%
= —
° .S
S5
A~




& hearthstone

the HEART of YOUR HOME

Model: Tudor Model #8120
Production Dates: September '04 -
Serial #: 001001 -

*Note: Specify color for enameled cast iron parts.
Key Part # Description

1 2110-210 Cast Base

2 2110-220 Control Panel Door

3 2110-268 Facade

4 2110-255 Cast Side, Right

5 2110-250 Cast Side, Left

6 2110-280 Cast Top

7 2110-260 Door Frame, Left

8 2110-265 Door Frame, Right

9 5120-006 Door Hinge Assembly, Right
10 5120-005 Door Hinge Assembly, Left
11 5120-085 Facade Clip

12 5120-062 Stone Clip, Right

13 5120-064  Stone Clip, Left

14 5120-092 Top Heatshield

15 5120-030 Control Door Stone Retainer
16 5120-027  Control Door Hinge Bracket
17 5120-028 Control Door Hinge

18 3120-125 Ceramic Top Heatshield

19 2110-275 Heat Exchanger Base

20 2110-277 Heat Exchanger

21 5120-066 Magnet Mount

22 5120-038 Control Panel Door Knob Extension
23 5120-001 Control Panel Door Knob

24 5120-032 Control Panel

25 7211-407 1" S.I.T. Knob Extension On/Off/Pilot
26 5120-010 Valve Bracket

27 5570-030 Cable 1/16" x 12"

29 7211-404 Hi/Low Knob Extension

32 3160-122 Heat Exchanger Gasket

33 2110-205 Cast Foot

34 7211-300 S.I.T. Valve

35 3300-334 Label On/Off/T-Stat

36 7210-103 Ignitor

38 5300-160 Magnet

w
©

5120-050 Firebox

11/30/2009 Tudor8120PartsList.xls



40 3030-044

42 5120-019
43 5120-055
44 7211-053
45 5120-080
46 3120-130
47 3120-132
48 3120-131
49 3120-133
50 5120-080
53 5120-017
54 5120-070
55 5120-041
56 5120-042
57 5120-076
59 5120-078
61 3160-121
62 5120-057
63 7211-370
64 7200-453
66 5701-0923TU
67 5120-020
69 3160-123
70 5120-014
71 7000-200
72 7211-536
74 7211-537
75 7211-538
76 5120-015

77 5120-124

11/30/2009 Tudor8120PartsList.xls

Glass: 10.8"x17.7"x5mm
Primary Air Plenum

Glass Retainer Frame
Gas Manifold

Glass Retainer Clip Frame
Ceramic Panel, Rear
Ceramic Panel, Right
Ceramic Panel, Left
Ceramic Panel, Top

Glass Clip

Primary Air Shutter

Baffle Support, Upper
Baffle Support, Left

Baffle Support, Right
Restrictor

Restrictor Indicator

Heat Exchanger Base Gasket
Rear Heatshield

3-Way Pilot Burner

Burner Orifice NG #53
Inlet/Exit Collar

Pilot Shield

Burner Gasket

Primary Air Shutter Plate
3-Way On/Off/T-Stat Switch
TEK Burner

Rear Log

Front Log

Shutter Bracket

Orifice Gasket



Not on diagram
91-82200xx
2110-296
2110-292
2110-294
3120-124
5120-053 Rev. 0
5120-054 Rev. 0

Includes:

Accessories
Curio -All Cast Panels
Side or upper front cast panel
Lower front cast panel
Lower side cast panel
Front door ceramic heatshield
Left Cast Door Retainer
Right Cast Door Retainer

4500-3436 10-24 x 3/8" Type F screw
6100-xxx  Box
91-82203xx  Keepsake Cast Panels with Cast Grill
Includes: 2110-296  Side or upper front cast panel
2110-292 Lower front cast panel
2110-294 Lower side cast panel
2110-298 Front Door Grill
5120-052 Rev 0  Front Door Grill Retainer
4500-3436  10-24 x 3/8" Type F screw
6100-xxx  Box
91-82206xx  Heirloom Stone Panels
Includes: 3160-120 Front Door Heatshield
5120-051 Rev. 0  Front Door Stone Retainer
4500-3436  10-24 x 3/8" Type F screw
6100-xxx  Box
1141-233 Polished Soapstone Stone Set
Includes: 1141-230 Polished Soapstone 5 1/2 x 6" Side, Bottom
1141-231 Polished Soapstone 6" x 12" Valve Door
1141-232 Polished Soapstone 5 1/2" x 18" Doors & Sides, Top
1153-233  Autumn Brown Stone Set
Includes: 1153-230 Autumn Brown 5 1/2 x 6" Side, Bottom
1153-231 Autumn Brown 6" x 12" Valve Door
1153-232  Autumn Brown 5 1/2" x 18" Doors & Sides, Top
1157-233  Kashmir Gold Granite Stone Set
Includes: 1157-230 Kashmir Gold 5 1/2 x 6" Side, Bottom
1157-231 Kashmir Gold 6" x 12" Valve Door
1157-232 Kashmir Gold 5 1/2" x 18" Doors & Sides, Top
91-68200 Insulation Kit (For use with self-purchased tiles)
Includes: 3160-120  Front Door Heatshield
5120-051 Rev. 0  Front Door Stone Retainer
4500-3436 10-24 x 3/8" Type F screw

11/30/2009 Tudor8120PartsList.xls



